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1. Which of the foilowing involve a trade-off?

A, Taking a nap

B. Buying a new car

C. Watching a football game on Saturday afternoon
D. Going to university

E. All of these answers involve trade-offs.

2. Trade-offs are required because wanfs are unlimifed and resources are

A, Economical.

B. Unlimited.

~ C. Efficient.

D. Marginal,

E. Scarce.

3, Economics is the study of

A. How society manages its unlimited resources.

B. How to reduce our wants until we are satisfied.

C. How society manages its scarce resources.

D. How to fully satisfy our unlimited wants.

E. How to avoid having to make trade-offs.

4. A rational person does not act unless

A. The action is ethical.

B. The action produces marginal costs that exceed marginal benefits.
C. The action produces marginal benefits that exceed marginal costs.

D). The action makes money for the person.
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E. None of the above answers.

5, Suppose you find Z,WL20000. 1f you choose to use the ZWL 20000 togoto a football match,

your opportunity cost of going to the game is

A. Nothing, because you found the money.

B. ZWL 20000 (because you could have used the ZWL 20000 to buy other things) plus the value

of your time spent at the game.

C. ZWL 20000 (because you could have used the ZWL 20000 to buy other things) plus the value

of your time spent at the game, plus the cost of the dinner you purchased at the game.

D. ZWL 20000 (because you could have used the ZWL 20000 to buy other things).

E. None of the above answers

6. Since people respond fo incentives, we would expect that, if the average salary of

accountants increases by 50% while the average salary of teachers increases by 20%, then

A. Fewer students will take degree courses in accounting and more will take education courses.

B. Fewer students will take degree courses in education and more will take accounting courses.

C. Fewer students will attend university.

D None of the above answers

7 Which of the following is not part of the opportunity cost of going on holiday?

A. The money you spent on a theatre show there.

B. The money you could have made if you had stayed at home and worked.,

C. The money you spent on food.
D. The money you spent on airline tickets.

8. Which of the following statements is true about a market economy?
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- A, With a large enough computer, central planners could guide production more efficiently than

markets.

B. In a market the self-interested actions of market participants are coordinated in such a way as

to bring about an outcome from which everybody benefits,

C. The strength of a market system is that it tends to distribute resources evenly across consumers.

D. Taxes help prices communicate costs and benefits to producers and consumers.

9.You are planning to run a hot dog stand during a forthcoming fair. You originally

estimated that you will generate sales revenue of ZWL 2000 and you have already spent

7ZW1L 1000 building the hot dog stand. The hot dog stand is nearly completed but now you

estimate total sales to be only ZWL: 800 because the fair clashes with a major music festival

in a nearby location, You can complete the hot dog stand for another ZWL 300. Your

decision rule should be to complete the hot dog stand as long as the cost to complete the stand

is less than

A. ZWL 300

B.ZWL 100

C. ZWL 500

D.ZWL 800

10. In which way does a straight-line production possibilities curve differ from a concave
production possibilities curve?

A. A straight-line production possibilities curve has a decreasing opportunity cost.

B. A straight-line production possibilities curve has a constant opportunity cost.
C. A straight-line production possibilities curve has an increasing opportunity cost.
D. A straight-line production possibilities curve does not show opportunity cos.t

E. Upward-sloping production possibilities curve.

11. Which of the following would cause a leftward shift of the production possibilities
curve?

A. An increase in unemployment
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B. An increase in inflation
C. An increase in capital equipment
D. A decrease in consumer demand

E. A decrease in working-age population

12. The law of increasing opportunity cost is reflected in the shape of the
A. Production possibilities curve concave to the origin (“bowed-out™)

B. Production possibilities curve convex to the origin (“bowed-in”)

C. Horizontal production possibilities curve

D. Straight-line production possibilities curve

E. Upward-sloping production possibilities curve

13. Suppose that a consumer purchases two goods X and Y and that the marginal utility of
X is MUx, the total utility of X is TUx, the marginal utility of Y is MUy, and the total utility
of Y is TUy. If the prices of X and Y are Px and Py, respectively, which of the following
expressions defines consumer equilibrium?

A TUx=TUy

B MUx = MUy

C TUx/Px = TUy/Py

D MUx/Px = MUy/Py

E (MUx)(Px) + (MUy)(Py) = 1

14. Which of the following is true if consuming one unit of a good yields 80 utils and
consuming the second unit of the

good increases satisfaction by 30 utils?

A. The margina! utility of the first unit is 30.

B. The marginal utility of the second unit is 80.

C. The marginal utility of the second unit is 50.

D. The total utility of consuming two units is 110.

E. The total utility of consuming one unit is greatet than the total utility of consuming two units.

15. Which of the following is true if consuming one unit of a good yields 80 utils and
consuming the second unit of the

good increases satisfaction by 30 utils?
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A. The marginal utility of the first unit is 30.
B, The marginal utility of the second unit is 80,
C. The marginal utility of the second unit is 30.

D. The total utility of consuming two units is 50,

E. The total utility of consuming one unit is greater than the total utility of consuming two units.

16. Suppose there is an increase in both the supply and demand for personal computers. The

market for personal computers, we would expect

A. The equilibrium quantity to rise and the equilibrium price to rise.

B. The equilibrium quantity to rise and the equilibrium price to fall.

C. The equilibrium quantity to rise and the equilibrium price to remain constant.

D. The change in the equilibrium quantity to be ambiguous and the equilibrium price to rise.
E, The equilibrium quantity to rise and the change in the equilibrium price to be ambiguous.
17. A perfectly competitive market has

A. Firms that set their own prices.

B. Only one seller.

C. At least a few sellers.

D. Many buyers and sellers.

E. None of these answets.

18.Total revenue necessarily equals

A. Total output multiplied by the average cost of output,

B. Total output multiplied by sales price of output.

C. (total output multiplied by sales price) — inventory surplus,

D. (total output multiplied by the average cost of output) — inventory shortage.

19. An example of an implicit cost of production would be the
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A. Cost of raw materials for a printing company to print books.

B. Income an entrepreneur could have earned working elsewhere.

C. Cost of a delivery truck in a business that rarely makes deliveries.
D. All of the above are correct.

20. In economics, the field of industrial organization answers which of the following

questions?

A. Why are consumers subject to the law of demand?

B. Why do firms experience falling marginal product of labor?

C. Why do firms consider production costs when determining product supply?

D. How does the difference in the number of firms affect prices and efficiency of market

outcomes?

21. Miranda wants to start her own business. The business she wants to start will require
that she purchase a factory that costs $400,000. She is planning to use $300,000 of her own
money, and borrow an additional $100,000 to finance the factory purchase. Assume the
relevant interest rate is 10 percent. According to this scenario, what is the explicit cost of

purchasing the factory for the first year of operation?

A. $10,000

B. $20,000

C. $30,000

D. $40,000

22. The marginal product of labor can be defined as (where D denotes “change”)
A. Dprofit/Dlabor.

B. Doutput/Dlabor.

C. Dlabor/Dtotal cost.
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D. Diabor/Doutput.

23. Diminishing marginal product of labor would arise when

A. Workers are discouraged about the lack of help from other workers.
B. Only new workers are (rained in using the most productive capital.
C. Crowded office space reduces the productivity of new workers.

D. Union workers are told to reduce their work effort in preparation for a new round of collective

bargaining talks

24, The slope of the total product curve reveals information about the
A. Marginal product of workers.

B. Average product of workers

C. Maximum product of workers.

D. Total product of workers

25

Total
Costs

Quantity of Coffee Mugs

The figure depicts a total cost function for a firm that produces coffee mugs. According to
the figure, which of the statements below best captures information about the underlying

production function?
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A. Qutput increases at an increasing rate with additional units of input.

B. Output decreases at an increasing rate with additional units of input.

C. Output increases at a decreasing rate with additional units of input.

D. Output decreases at a decreasing rate with additional units of input.

26. Which of the following costs will be zero if a firm produces zero?
A. Average cost
B. Variable cost
C. Opportunity cost
D, All of the above are correct.

27. Average total cost equals

A. (fixed costs + variable costs)/quantity produced.

B, (fixed costs + variable costs)/change in quantity produced.

C. Change in total costs/quantity produced.

D. Change in total costs/change in quantity produced.

14. If we assume that marginal product of labor is always decreasing, average total cost
A. And average fixed cost are always falling,

B. And average fixed cost is always U-sghaped.

C. And average fixed cost are always rising.

D. Is U-shaped and average fixed cost is always falling.

28. At all levels of production beyond the point where the marginal cost curve crosses the

average variable cost curve, average variable cost

A. Falls,

B. Rises.
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C. Does not change.

D. All of the above are possible, it depends on the shape of the marginal cost curve

29

Quantity of Output

The figure reflects information about the cost structure of a firm. According to the figure,

which of the lines is most likely to represent average total cost?

AA
B.B
C.C
D.D
30. When a factory is operating in the shoxt run,

A. It cannot altet variable costs.

B. Total cost and variable cost are usually the same.
C. Average fixed cost rises as oufput incteases

D. It cannot adjust the quantity of some inputs.

10
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31. In general, elasticity is

A. A measure of the competitive nature of a market.
B. The friction that develops between buyer and seller in a market.

C. A measure of how much government intervention is prevalent in a market

D. A measure of how much buyers and sellers respond to changes in market conditions.

32. If the demand curve is linear and downward sloping, which of the following would NOT

be correct?
A. Elasticity will change with a movement down the curve.

B. The upper part of the demand curve is more elastic than the lower part,

C. The lower part of the demand curve would be less elastic than the upper part.

D. Elasticity and slope would both remain constant along the curve.

33. On a downward-sloping, linear demand curve, total revenue would be at a maximum at

the
A. Upper end of the demand curve
B. Midpoint of the demand curve.
C. Lower end of the demand curve.

D. It is impossible to tell without knowing the price and quantity demanded.
34, The main determinant of the price elasticity of supply is
A. Time,

B. Luxuries vs, necessities
C. The definition of the market.

D. The number of close substitutes.

35. A monopoly is a market structure in which

11
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A. A single firm exercises its power over smaller firms

B. A single firm produces a product with a wide variety of very close substitutes
C. Each firm is run by a small proprietor

D. There is only one firm producing a product which has no close substitutes
36. External diseconomies arise due to:

A. Growth of ancillary industries

B. High cost of technologies

C. Increase in the price of factors of production

D. None of the above

37. A a right ward shift of the supply curve may be caused by;

A. A rise in the price of the product
B. A decrease in the subsidy on the good
C. A decrease in the costs of production of the firm

D. An increase in the tax on the good
38. For a product with negative externalities

A. Market equilibrium results in too much of the good being produced.
B. Market equilibrium results in too tittle of the good being produced.

C. The market will provide the optimal quantity of the good.
D. Large economies of scale work as a barrier to firm enfry.

39, Which of the following policies is government most inclined to use when faced wi

positive externalify?

A. Subsidies
B. Taxation

C. Permits

12
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D. Usage fees

40. When calculating total production costs, economists consider:

A. Tmplicit and explicit costs
B. Only implicit costs
C. Only explicit costs

C. All implicit costs and a few explicit costs
41, Diminishing marginal returns set in when

A. Marginal product is zero

B. Total product is negative
C. Total product is at its maximum

D. Marginal product is falling

42. In the long run, a perfectly competitive firm earns
A. Positive economic profit

B. Zero economic profit

C. Negative economic profit

D. Subnormal profit

43. Points outside the production possibilities frontier (PPF) are

A. Unattainable,
B. Attainable, but productive inefficient.
C. Preferable to points that lie on the PPE.
D. Attainable and productive efficient.

E, Possible.

44. If the marginal cost of the next slice of pizza exceeds marginal benefit you will

13
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A. Eat the slice of pizza.
B. Not eat the slice of pizza,
C. Be unable to choose between eating or not eating,
D. Eat half the slice.

E. More information is needed to answer the question,

45. June has enough money to buy either a Mountain Dew, Pepsi, or a bag of chips. She

chooses to buy the Pepsi. The opportunity cost of the Pepsi is

A. The Pepsi and the bag of chips.

B. The Mountain Dew or the bag of chips, whichever the best alternative given up.
C. The Mountain Dew and the bag of chips.

D. The Mountain Dew because it is a drink, as is the Pepsi.

E. Zero because she enjoys the Pepsi.

46. Labor, human capital, entrepreneurship, natural resources, and physical capital are all

examples of which of?
A. Public goods
B, Inferior goods
C. Factors of production
D. Outputs
E. Substitutes in production
47. The demand curve for labor is derived from

A. The market labor demand curve
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B. The demand cutve for the output produced by labor
C. The labor supply curve for the firm

D. The equilibrium wage in the labor market

E. The market labor supply curve

48. Which of the following constitute the fundamental questions every economic

system must answer?

I, What goods and services will be prod.uced?
1. How will they be produced?

11T, When will they be produced?

TV, For whom will they be produced?

V., Where will they be produced?

A L, 111, and V only

B1L 1, and IV only

C 1,11, and V only

D11, IV, and V only

E I1, I11, and [V only

49. The market demand curve for labor will shift to the right when
A. The number of firms increases

B. An increase in the price of the firm’s output

C. The labor supply curve shifts to the right

15



